EAGRAROBREERT — 2 N— IBISH —F 202156H308 (k) 7EIEIMH4H

m B2 ¥5%4®% L ‘ [X#&] B& ‘ [Emsm]  — | & (&) 14000 B
[A&4£)] 1 7% :1,100,000 @ 23 :440,000 @  33%&:275,000  ~ 4 3#&:165,000 @ ~ 5 7 :110,000 M
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
- RN > Hz 73 ~6-5- . — WEEF (EE
gl g n—E—Foz > 6| EbE 1(3_2)0 6-6-5-4 | 39.4 5 :1_329) %ﬁ%i
LN—ETv— B:a*/xIF "HET7— L4
o o BEH#T :32. -9-6~ . — EREY (FH)
el ol 7054754 # o | BRe I R RN
L:hTotEP RN BANLES MST o = iE—
—: SN ERE* : —4-3- — RAFIt (FEH)
N B GE R - [ ERRRA A P |
RL:g— MR B:7IvT70O0-7F HE77—L4
= AN B4 | BARKH 1:32.3 2-2-2-1 | 40.4| — 2 418 | #EX (EH)
4 71 INT 1 54.0 (3/4) (1) | HEEHE
LN—HANE BA LT —F [ali e ]
. N REEX 132, -8-0- . - AR EE (FER)
5 g| FTFHE-I K i o4 RN 1 (332)8 8-8-9-9 | 39.9 7 (4_611) ﬂd;ﬂﬂﬁ
LTV ARILR B:TTyIERSTy b HFA 2Ly K
-2 # o6 | TTRhEH 1:32.8 10-10-8-7 | 39.7 | — 8 471 | WE=E (k)
6l5/6|=>/T>EXx 56.0 (7427) (-4) | EEES
L) —FHII9> B:da 7 bT—I BRI 7 — L
N N > REF R : —3-4- - WEES (EH)
7 o | FHTT > 6| M5 1.(3133.0 3-3-4-5 | 40.8 6 (4_410) ,ﬁ%%t
L KRKUIYAIRX B:Yv X bYa—o HET7—L
S S o6 | REHERN 1:33.5 1-11-11-11{ 39.8 | — 1| 466 |MEEF— (k)
glgl11|¥rv7E->X 56.0 3) @3) | ) E<BI-—KL—va>
/KT vyy BT I IT EZHTT—L
N co TEE :34. —7-9- 0| - FESE (EA)
917110 HAL TN — 4 4 o 1(334)0 7-7-9-10 | 41.0 9 ;1:526) -k
L:7A7% B:UACINTFTR me =A
# o9 | MERAF 1:34.1 5-5-7-8 | 41.4| — 10 | 487 |AXBEE= (EH)
10Ky 3| F7UVEYTTIR 56.0 (1/2) @) |1 A= AP S
LY IRGTA TSR B:FURINFIN—T L %A
# 5 | B 1:35.7 1-1-1-2 | 43.9| — | 1 | 516 |HRFARFE (EM)
1| Y77 54.0 (10) Gay | WO
gL FS LML B A= R Ty — Es —B
= N N AZmER — - — — — — | AFE=FH (EH)
wtl5l5| FTTILELY "4 () B
L:IET7xAT7 B:bITy FUN— HE SR
® I —F—EBIERL
==5— 1,7,2,4,3,9,10,8,12,6, 11
23—F— 1,7,2,4,3,9,10,8,12,6,11
30—7+— 1,7,4,2,9,12,3,6, (8,10) , 11
41 —F— 7,1,4,9,2,12,6,3,8,10,11
[ RN
B OB 9 1,310 714K 9-12 840M e & 7-8 2,540M 3ER 4-9-12 3,230
% B 9 230 4-9 490MH B & 9-12 3,580 JEH 9-12-4 30,020
12 220M 4-12 600 B H 9-12 7,110
4 140H

ARICOVWTRDTEEERROODE. TR LIV,



